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CROSSWORD PUZZLE

Enemy Spy
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Across

1 Nolan captures the bad guys with
his__

3 What the trench-coat guy leaves in
the boulder

6 Why does Nolan have to stop riding
his bike?

9 Shhh!ltsa__
10 Mr. Green has lots of these
13 The FBI gets involved in matters of

16 Something Nolan trips over

19 He wants to be Shredderman’s
sidekick

20 They think Nolan’s mom is Shred-
derman!

22 The boulder wasn’t heavy--it was
24 Nolan’s mom (first and last name)
26 Every reporter tries to getthe _
27 Everyone wants to know who he is
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Down

2 What the FBI confiscates from
Nolan’s house

4 ATV camera’s power source
5 The ex-bouncer

7 The pushiest reporter ever (first and
last name)

8 Used to report the weather
11 Hot chocolate extras
12 It's marked with an X

14 What the Bouncer is to Shredder-
man

15 The kind of documents Nolan found
17 A secret agent

18 Nolan’s mom and dad could be
charged with obstruction of ____

21 Mr. Green livesina

23 Opposite of found

25 Nolan follows this to Mr. Green’s
place.
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Below is a list of possible answers to the crossword puzzle. Use them as clues to
find the real answers, but be careful! Not all the words below are real answers!

Battery Pack
Boulder
Bubba

Buddy
By-line

Cabin

Cash

Chatty Adams
CIA
Classified
Computer
Digital Camera
Eve Byrd

FBI

Feet

Flat Tire
Guitars

Guns

Harry Kane
Highway
Hollow
International Crime
Ivana Voss
Justice

Lost
Marshmallows
Milk

Money

Mr. Green
National Security
River

Scoop

Secret

Secret Agent
Shoelaces
Shredderman
Sidekick

Spy

Treasure Chest
Steven Byrd

lllustration Copyright ©2004 Brian Biggs



SOLUTION: Enemy Spy
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